
SM-127  1 P.T.O. 

Seat No. :  _______________  SM-127 
September-2020 
B.A., Sem.-VI 

CC-315 : ECONOMICS 
(Economics Essays – 02) 

(New Syllabus) 
  

Time : 2 Hours]  [Max. Marks : 50 
 

 : (1)      . 
  (2)     . 
   

 
1.   .  25 
 
2.    . 25 
 
3.  ,    . 25 
 
4.     . 25 
 
5.   . 25 
 
6.       . 25 
 
   _________ 
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Seat No. :  _______________  SM-127 
September-2020 
B.A., Sem.-VI 

CC-315 : ECONOMICS 
(Economics Essays – 02) 

(New Syllabus) 
  

Time : 2 Hours]  [Max. Marks : 50 
 

Instructions : (1) All Essays carry equal marks. 
   (2) Write any TWO essays from the following. 
   

 
1. Gandhian Economic Thoughts.  25 
 
2. Tax Structure and Tax Reforms in India. 25 
 
3. Liberalization, Privatization and Globalization Policies in India. 25 
 
4. Nationalized Banks and Private Banks in India. 25 
 
5. Urbanization problem in India. 25 
 
6. Environment and Pollution problems in India and solutions. 25 
 
   _________  
 
 
 
 
 
 
 
 
 



SM-127  3 P.T.O. 

Seat No. :  _______________  SM-127 
September-2020 
B.A., Sem.-VI 

CC-315 : ECONOMICS 
(Economics Essays – 02) 

(Old Syllabus) 
  

Time : 2 Hours]  [Max. Marks : 50 
 

 : (1)      . 
  (2)     . 
   

 
1.   .  25 
 
2.  . 25 
 
3.   . 25 
 
4.      . 25 
 
5.    : SEBI, TRAI, IRDA, ERC. 25 
 
6.    .  25  
 
   _________ 
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Seat No. :  _______________  SM-127 
September-2020 
B.A., Sem.-VI 

CC-315 : ECONOMICS 
(Economics Essays – 02) 

(Old Syllabus) 
  

Time : 2 Hours]  [Max. Marks : 50 
 

Instructions : (1) All Essays carry equal marks. 
   (2) Write any TWO essays from the following. 
   

 
1. Parallel Economy in India.  25 
 
2. Child Labour in India. 25 
 
3. Social Security in India. 25 
 
4. Micro Credit and Micro Insurance in India. 25 
 
5. Regulatory agencies in India : SEBI, TRAI, IRDA, ERC. 25 
 
6. Urbanization and Migration in India.  25  
 
   _________  
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Seat No. :  _______________  SM-127 
September-2020 
B.A., Sem.-VI 

CC-315 : ECONOMICS 
(Ganitbaddh Arthshastra) 

(Old Course)  
Time : 2 Hours]  [Max. Marks : 50 

 
 : (1)  – I     (14) .  
  (2)  – I 8    . 
  (3)  – II   9  .  8 4 MCQ .  2 . 

 
 – I 

 

1.    ?  ,    . 14 

 

2. (A) -I  -II     . 7 

 (B)        . 7 

 

3.          ?     
. 14 

 

4. (A)   (r2)   . 7 

 (B) , ,    . 7 
 
5.      ?       .  14 
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6. (A)     . 7 
 (B)      .  7 
 
7.            : 
  D = a0 + a1P1 + a2P2 + a3y + a4t + u 
  S = b0 + b1P1 + b2P2 + b3c + b4t + w 
  D = 5 
 ,  
 D, S, P1   .  
 P2, y, t, c   . 

 u, w  . 14 
 
8. (A)        . 7 
 (B)       . 7 

 

 – II 

9.    (8 4 ) : (  2 ) 8 
 (1)    (H0)  ,    ,  - 
  (a)   
  (b) -2   
  (c) -1   
  (d) -3   
 

 (2)    (H0)  ,    ,  
  (a)   
  (b) -2   
  (c) -1   
  (d) -3   
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 (3)      - 

  (a) E() =  

  (b) P(| – |n 

  (c) Var()  var(*) 
  (d)    

 

 (4)       ? 

  (a) e = y – y 

  (b) y = b0 + b1 X 

  (c) y = b0 + b1 X + ei 

  (d) y = b0 + b1X + u 

 

 (5)            ? 

  (a) Cov(uiuj) = 0 

  (b) E(u2) = 2u 

  (c) rx1 x2  1 

  (d)    
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 (6)           ? 
  (a) Cov(uiuj) = 0 
  (b) rx1 x2  1 

  (c) E(u2) = 2u 
  (d)    
 

 (7)         ,      
  (a)    
  (b)     
  (c)  
  (d)     
 

 (8)        ? 
  (a)    
  (b)  
  (c)     
  (d)    
 

_____________ 
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Seat No. :  _______________  SM-127 
September-2020 
B.A., Sem.-VI 

CC-315 : ECONOMICS 
(Ganitbaddh Arthshastra) 

(Old Course)  
Time : 2 Hours]  [Max. Marks : 50 

 
Instructions : (1) All questions in Section – I carry equal marks (14).  
   (2) Attempt any THREE questions out of eight in Section – I. 
   (3) Question No. 9 (Nine) in Section – II is COMPULSORY. Write any  

4 (four) MCQ out of 8 (eight). Each MCQ question carry 2 (two) 
marks. 

 
Section – I 

 

1. What is Econometrics ? Explain nature, scope and method of Econometrics. 14 

 

2. (A) Write short note on Type-I and Type-II Error. 7 

 (B) Write short note on Point estimation and Interval estimation. 7 

 

3. What is Population Regression function and sample Regression function ? Explain least 
square estimation method. 14 

 

4. (A) Write short note on coefficient of determination (r2) 7 

 (B) State the properties of Best, Linear, Unbiased Estimator (BLUE). 7 
 
5. What is the problem of Multi-collinearity ? Discuss its reasons and consequences.  14 
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6. (A) Write short note on Auto Correlation. 7 
 (B) Write short note on Heteroscedasticity.  7 
 
7. Test Identification of the following market model by using Rank and Order condition : 
  D = a0 + a1P1 + a2P2 + a3y + a4t + u 
  S = b0 + b1P1 + b2P2 + b3c + b4t + w 
  D = 5 
 Where D, S, P1 is endogenous variables  
 P2, y, t, c exogenous variables,  
 u, w error term. 14 
 
8. (A) Write short note on two-stage least square method. 7 
 (B) Explain Keynes’ Income determination model with the help of an example. 7 

 

 

Section – II 

9. Multiple Choice Questions (Write any 4 out of 8). (Each question carry 2 marks.) 8 
 (1) If null hypothesis (Ho) is true and we reject it then 
  (a) True decision 
  (b) Type-2 error 
  (c) Type-1 error 
  (d) Type-3 error 
 

 (2) If null hypothesis (Ho) is wrong and we accept it, then it is 
  (a) True decision 
  (b) Type-2 error 
  (c) Type-1 error 
  (d) Type-3 error 
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 (3) For unbiasedness of sample estimator 

  (a) E() =  

  (b) P(| – |1 when n 

  (c) Var()  var(*) 
  (d) None of the above 
 

 (4) Which of the following is the sample regression equation ? 

  (a) e = y – y 

  (b) y = b0 + b1 X 

  (c) y = b0 + b1 X + ei 

  (d) y = b0 + b1 X + u 

 

 (5) Which assumption is broken when Heteroscedasticity of error term problem is 
create ? 

  (a) Cov(uiuj) = 0 

  (b) E(u2) = 2u 

  (c) rx1 x2  1 

  (d) None of the above 
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 (6) Which assumption is broken when Autocorrelation problem is create ? 
  (a) Cov(uiuj) = 0 
  (b) rx1 x2  1 

  (c) E(u2) = 2u 
  (d) None of the above 
 

 (7)  Determine a hypothesis which is consistent with model and observed statistical 
information means 

  (a) Simultaneous equation method 
  (b) Two-stage least square method 
  (c) Identification 
  (d) Indirect least square method 
 

 (8) What is the method describing combine dependence of variable ? 
  (a) Simultaneous equation method 
  (b) Identification 
  (c) Two-stage least square method 
  (d) None of the above 
 

_____________ 
 
 


